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SN

M A=l AM aA
ool S EIIY 1S (a2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2

01 AXIEMBIAEEZ 2,931,000 1,625,000 1,306,000
O EEAATEY ZefAH 2,931,000
= 2,931,000

403 MRS S K20 1,769,000 1,075,000 694,000
= 1,769,000

01 AXISHNA2E X 1,769,000 1,075,000 694,000
O SHEMGE=RH ZeAH 1,769,000
= 1,769,000

SHA2 MAREINRE NV (2D) 2,370,000 3,500,000 ~ 1,130,000
& 2,370,000

403 XHXISHHSA=20| A 2,370,000 3,500,000 A 1,130,000
= 2,370,000

01 AXHHMANE2EX 2,370,000 3,500,000 A 1,130,000
O s=x42 MatgS)|et2s I 2,370,000
= 2,370,000

sXolae XN (=21D) 350,497 351, 101 A 604
J| 343,101
& 7,396

202 (4 Hi 7,396 7,000 396

01 2| 7,396 7,000 396
OsX&dEg & 5t S ERES 7,396

308 XX S SOl A 343,101 343,101 0
| 343,101

01 IXIEHBAEXZ 343,101 343,101 0
oOsXolgzel XA 343,101
J| 343,101

BALQL HEB 23 28,599,042 28,409,082 189,960
= 28,074,042
J| 300,000
7 = 225,000

HEgzae| 29(=20) 74,042 74,042 0
= 74,042

201 L Bt2HH| 12,714 12,714 0
= 12,714

01 AtR2t2| | 12,714 12,714 0
OAYHHFR =& 12,714
= 12,714

202 (4 Hi 13,728 13,728 0
= 13,728

01 2| 13,728 13,728 0
o=z =& 13,728
= 13,728

308 XX SISOl A 47,600 47,600 0




SN SoLFBD
HH: AYUs AN 4
CHel: margl AmE A3 EER-E
5 T AT
SN SAFA) - MEAD - BES Off &+ ot 0Ol At o8 HmsS2
= 47,600
01 AXESHHISEERS 47,600 47,600 0
OANZ 2F22 YR XX 47,600
= 47,600
HASSEMANSH(AIG22IH])(Z22) 300,000 209,704 90,296
Il 300,000
308 XiXI S+ S 01 & 300,000 209,704 90.296
| 300,000
01 IXISHHMBANEEZ 300,000 209,704 90,296
OBASEMAZH (At 22lH]) 300,000
p) 300,000
HAAE BEHANFANEM(Z=1) 28,000,000 27,666,336 333,664
= 28,000,000
308 AtXISHMSOI A 28,000,000 27,666,336 333,664
= 28,000,000
01 HIXHHBLEEXS 28,000,000 27,666,336 333,664
ORASEHMEX =K 28,000,000
= 28,000,000
DEIM MAIBAIE 225,000 300,000 AT75,000
403 XX SHHMS =0l & 225,000 300,000 A75,000
01 AXSHHX2E X 225,000 300,000 275,000
ORSHATO| MLAAIE 225,000
SEOMXIet 42 & gy 2,470,692 2,959,388 A488,696
= 1,211,796
= 53,600
S 1,205,296
sty 23 25,000 25,000 0
307 2I2to1 & 25,000 25,000 0
02 2l2tB &2 X 25,000 25,000 0
OYs4oEY 29 25,000
s02dE A=sXE 71,500 72,794 A1,294
308 AtXIHMSOI A 71,500 72,794 N1,294
01 HXHHBLEES 71,500 72,794 AN1,294
OFH=LAH s0ANL RSXA 71,500
S0IYol DWMXE X2 X 600,000 600,000 0
308 AtXIHMSOI A 600,000 600,000 0
01 HIXHHBLEEXS 600,000 600,000 0
Os0Yel DM &2 X 600,000
Hesgo |4 95,377 134,009 A 38,632
202 04 5,071 4,800 271




A sHEZ
olel =
O =

By A AW A
el SEIIKIY 4O B s (Erol: @2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRs2
01 WA 5,071 4,800 271
005l S HRET 5,071
308 AtXICHM S 01 & 90,306 129,209 A38,903
01 X SHBAEES 90,306 29,209 38,903
OsENWdZ=018X S22 16,500
O0iMsAME 29 X2 21,806
O0i& S0l IR AN 52,000
s S4H K& 134,000 134,000 0
= 53,600
T 80,400
308 XHXIEHHI S OI 134,000 134,000 0
= 53,600
= 80,400
06 WsI|20tHetEL=S 134,000 134,000 0
o=ty =AdHl K& 134,000
=2 53,600
= 80,400
sEE2 &= N& 30,000 30,000 0
308 XHXIEHHI S 0| 30,000 30,000 0
01 IXNHHEMNEXS 30,000 30,000 0
0 s&252% 22 XY 30,000
sHE Es0HAMNA 1,514,815 0 1,514,815
= 1,211,796
= 303,019
308 KX SHHMSOIA 1,514,815 0 1,514,815
= 1,211,796
& 303,019
01 IXNHHEBMNEES 1,514,815 0 1,514,815
Os0E 2R0ANL (2SN SE224E) 1,514,815
2 1,211,796
= 303,019
d2sgel =4 1,374,336 1,434,200 259,864
= 677,684
= 696,652
ZEE sOHYCIAN 27,000 27,000 0
201 ZEt2FH| 22,000 22,000 0
01 AtR2tel 16,000 16,000 0
OLAET s0{g0l 2y 16,000
03 S At2 G| 6,000 6,000 0
OLAET S0/ =3 6,000
307 QI2H0I & 5,000 5,000 0
04 BIZHHALE = 5,000 5,000 0




SA: S0 F M
Ha: YRsY AW
ol Meseol 24 (el:@g
_ _ SIEN
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2
OTAT SOIAAUAH 2 5,000
ool H2NS 29 300,000 280,000 20,000
403 XX EHHI S K2 0| & 300,000 280,000 20,000
02 20| 2SOl T BHOH B AR 2L B 300,000 280,000 20,000
OSHYIDALXVE 2 300,000
SOt S4 143,698 144,500 A802
202 01| 3,698 3,500 198
01 =L 01 bl 3,698 3,500 198
OSUALH S& A2FT 3,698
307 212H0| & 140,000 140,000 0
02 DIHANEE 140,000 140,000 0
o= SLXI 140,000
S)sABYel RF(2D) 38,440 37,200 1,240
2 31,000
= 7,440
308 Xt X EHHI S 01 & 38,440 37,200 1,240
= 31,000
= 7,440
01 KIXISHHI B A 2 XS 38,440 37,200 1,240
0FAsAAY 0g 38,440
2 31,000
= 7,440
=9 DIOIAECHE 2¢(2D) 764,798 738,500 26,298
2 546,284
= 218,514
307 212H0| | 764,798 738,500 26,298
= 546,284
= 218,514
02 DI2AMDE 764,798 738,500 26,298
OUASAOI0IAEfE 2 764,798
2 546,284
= 218,514
SYRYALY NA(2D) 36,000 162,000 A126,000
2 36,000
308 XXl £H 7 S 01 & 36,000 162,000 A126,000
2 36,000
01 XIS B A2 ES 36,000 162,000 A 126,000
OsAAYAMEY XN 36,000
2 36,000
=0 Mg XA (2D) 64,400 0 64,400
= 64,400
308 XX £HHI S 01 & 64,400 0 64,400




SN S0EYY
Hu: ZRs AW By
el dEsYe |4 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 64,400
01 HXHHBLEES 64,400 0 64,400
OoH=2 sk 64,400
= 64,400
LSEMNY &35t 42,579,869 45,779,292 A 3,199,423
= 1,177,699
& 36,576,000
i T 4,826,170
sEME0ts 2g #4535t 1,237,165 1,020,800 216,365
2 996,000
e 241,165
sE2d 285 =4 151,165 30,600 120,565
201 fEt2dd| 50,600 600 50,000
01 AtR2tel 50,600 600 50,000
OO F0elBAIAE AFOS MEIA AEZ 600
O=stoedt L TAR ®/X S22 M 50,000
202 ¢4l 10,565 10,000 565
01 =2 A b 10,565 10,000 565
osEa 23 PRI 10,565
307 212tol 20,000 20,000 0
02 It A8 X 20,000 20,000 0
O & MMIZNE XX 20,000
308 KX SHHSO0IA 70,000 0 70,000
01 IXNHHBEHEXS 70,000 0 70,000
OsEZZNEglts Megss 24 A& 20,000
OHIOtY =t =X X& 40,000
OsZEME2d 2AHT BEH X& 10,000
SMHHENEDNE MRE WS (=22) 396,000 367,200 28,800
= 396,000
308 AHXIHMSO0I A 396,000 367,200 28,800
= 396,000
01 AXHHBAEEZ 396,000 367,200 28,800
OsUUEMEDNE AMFE MHEXE 396,000
= 396,000
SAQ SXNEZz08 XA (31) 360,000 348,000 12,000
= 300,000
& 60,000
308 KX &M SO0IA 360,000 348,000 12,000
2 300,000
& 60,000
01 IXNHHBHEXS 360,000 348,000 12,000
OZANBSEXEZZ208 XI& 360,000




SH: SHUEHY
HH: AsENY 2A5
Ce: SEMNE0S 2Y 2435 (&te @
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
= 300,000
[ 60,000
SHESSHEA 2485 XS (=1D) 330,000 275,000 55,000
= 300,000
[= 30,000
308 XXISHHISO0I & 330,000 275,000 55,000
= 300,000
[= 30,000
01 AXSHHBAEEZ 330,000 275,000 55,000
OsSHEZSHIA 2435 X 330,000
= 300,000
[= 30,000
SE2ZD|IE 8= 3,389,273 3,978,492 589,219
= 181,699
2 2,852,000
[= 355,574
EMEE HE0S TH(2D-SAESR) 1,252,000 1,200,000 52,000
2 1,202,000
[= 50,000
403 XX SHHS =0 ™ 1,252,000 1,200,000 52,000
2 1,202,000
[= 50,000
01 AXISH IS = 1,252,000 1,200,000 52,000
O=SMSZ=HENSEAL (LIS AHEXA) 1,202,000
2 1,202,000
OsMsZE g2 AlEgeS 50,000
U SEH0I2AM(Z21) 1,740,000 1,920,000 180,000
2 1,450,000
[= 290,000
403 XIXISHHIS AH=0| & 1,740,000 1,920,000 A 180,000
= 1,450,000
[= 290,000
01 AXISH IS =X 1,740,000 1,920,000 180,000
OsUsEHOIZRAEA 1,740,000
= 1,450,000
[= 290,000
ZUABEINFINEM(Z2D) 197,273 318,492 A121,219
= 181,699
[= 15,574
308 XXM SO0l & 197,273 318,492 A 121,219
= 181,699
[= 15,574
01 HXSHHBAEERZ 197,273 318,492 A 121,219
OZZBHEEFIEH 197,273
= 181,699
[= 15,574

|
~
|




SN S0QEYY
Hu: AREEIY SAs
el SEDOIY HE (a2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
=MsE MENS D4 (20-8ore) 200,000 0 200,000
= 200,000
403 A XIS XH=01 & 200,000 0 200,000
= 200,000
01 RtXISM 2L X 200,000 0 200,000
O sSM=ZHESZLE(S=4ERY) 200,000
= 200,000
SEXNS g 37,953,431 40,780,000 N2,826,569
= 33,724,000
= 4,229,431
s=02 SENY AP (2-3ors) 11,287,000 11,126,000 161,000
= 11,287,000
403 XX SIS AH=01 & 11,287,000 11,126,000 161,000
= 11,287,000
01 AtXIEH X2 E X 11,287,000 11,126,000 161,000
sENS S 11,287,000
= 11,287,000
SENS SEMNY ML (FD-SAHER) 22,437,000 20,384,000 2,053,000
& 22,437,000
403 XIS H S X201 22,437,000 20,384,000 2,053,000
& 22,437,000
01 AXIEHA2 2L 22,437,000 20,384,000 2,053,000
Os&Ns SEHE 22,437,000
= 22,437,000
MsHEHE2s 8483 =4 89,431 92,000 N2,569
201 Et2dd| 28,300 32,000 A 3,700
01 AtR 22t 13,300 17,000 A3,700
OSA0IS AMA AT R 7,500
OMSOEALSE SHM AA 1,600
OMSOEALSE BB HE(DH=01) 1,200
OMsEALRE 2I-S 22 () 3,000
03 At2 S| 15,000 15,000 0
OMsOEZdE=Es il AEU= 15,000
202 ¢4l 21,131 20,000 1,131
01 =2 LHA bl 21,131 20,000 1,131
OMsOHEAL2s ZRFH 21,131
301 LB A3 10,000 10,000 0
10 AL HIEA S 10,000 10,000 0
OMsHEAL2S 33 2 A4 10,000
307 21Ztol & 30,000 30,000 0
02 glz2tdatex 30,000 30,000 0




HgE®
FSENY 53t
EXNS o

M-S (3) - HRAY - BES Aro e =2
OM=sOHEHE2S OISHHOIME 2H 30,000
SsHEHERS 20t dZXE 4,140,000 7,100,000 22,960,000
403 KX SHHIS =0 & 4,140,000 7,100,000 22,960,000
01 AXIEH 22X 4,140,000 7,100,000 22,960,000
OMsOHEALE2S =0t && XN& 4,140,000
HE2IZH (s F 20 400,948 359,738 41,210
223l 267,420 246,420 21,000
& 2AHdl XA 267,420 246,420 21,000
204 X =H A H| 267,420 246,420 21,000
02 A2l 267,420 246,420 21,000
O3z 500,000 x1E +12& 6,000
O4= 400,000& x8 122 38,400
052 250,000 «26Y 123 78,000
O6= 155,000 *39F 128 72,540
O7= 140,000 *32H x12& 53,760
0892 105,000& «12H 128 15,120
ONEZRE(=sMSTEHH)
300,000 x1E+12& 3,600
Z Hl 133,528 113,318 20,210
M2g Jl23l 133,528 113,318 20,210
201 get2Ad| 43,408 36,528 6,880
01 A2 2 2ldl 32,208 30,328 1,880
ORNE2ZE AtR22lH] 32,208
02 2324l 11,200 6,200 5,000
FAN2E S22l 1,200
OFM(=Ho A=A R)2E S 10,000
202 44| 11,520 11,040 480
01 =2 bl 11,520 11,040 480
ORAN=2ZE 22U 11,520
203 ¥ =&l 31,800 28,800 3,000
01 J|22d P RF=8H 6,000 6,000 0
o=% 6,000,000& 6,000
04 EN2ITRFEH 25,800 22,800 3,000
©15¢1 Ol ot 250,000 *3JH ut+ 12 9,000
©30¢! Ol ot 350, 0003 *4JH 1+ 122 16,800
204 M= AH| 40,800 36,600 4,200
01 M MSHSP A A 40,800 36,600 4,200
o=% 600,000& x12& 7,200
OFH2, WE(7Y) 350,000& 8H ~12& 33,600
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